EXAM DATE : 18-February-2018
EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 1 - How many three digit numbers are there in which all the digits are odd?
T 3ieht aTelt Tt fohat Tead & fSrad gafY sfes fawm §2
Options:

Correct Answer: 125
Candidate Answer: 125

QID : 2 - If the sum of ten different positive integers is 100, then what is the greatest possible number among these 10 numbers?

afg <9 faf9ra emTeres quifer! a1 @l 100 &, at 37 10 Swarsll § gad It Sefad et . 8?
Options:

Correct Answer: 55
Candidate Answer: 55

QID: 3-If N=0.369369369369... and M = 0.531531531531..., then what is the value of (1/N) + (1/M)?

af& N = 0.369369369369... 4T M = 0.531531531531... &, @ (1/N) + (1/M) @1 A T 8?2

Options:

1) 11100/2419
2)111/100

3) 1897/3162
4) 2419/11100

Correct Answer: 11100/2419
Candidate Answer: 11100/2419

QiD:4-
0.216+0.008
A ————
0.36+0.04-012
0.729-0.027

" 081009+027"
of (A2 + B?)22

and

then what is the value

0.216 +0.008
Asi—— e
e 0.36+0.04-012

0.728-0.027 k
= 4 A2 + B3 @7
0.81+0.09+0.27 Rl )

AT F4T 87

Options:

1)0.8

2)1

3)1.4

4)2.2

Correct Answer: 1

Candidate Answer: 1

EXAM START TIME : 10:30:00
EXAM DURATION : 02:00 Hrs
TOTAL NO OF QUESTIONS : 100



QID:5-
1 1 1 1 1

If A= +
%2 1x4 2x3 4x7 3x4
+ ... upto 20 terms, then what is the
7x10
value of A?
1 1 1 1 1
Am———q
e B o o e e
+ 4 .. 20 9Ef o &I, dr A & AT
Tx10
T 87
Options:
1) 379/308
2)171/140
3)379/310
4) 420/341

Correct Answer: 420/341
Candidate Answer: 420/341

QID: 6-1f 56 x 75 x 60 x 84 x 210 = 2P x 39 x 5" x 75, then what is the value of [(p + q)/s] + r?

afe 56 x 75 x 60 x 84 x 210 =2P x 39 x 5" x 75 g, @t [(p + q)/s] + r ST A AT &?
Options:

16

2)8

3)12

4)10

Correct Answer: 8

Candidate Answer: 8

QID:7-
1 1 47 47
]fA=SEK4E?34—§+ﬁ a

B =21 +51+55 - ﬂ , then what is the value
z 2 10

nd

of A— 87

| 47 47
Ty A= oeho iU

5:2%+51—:55-% g ar A-B & A

2
&1 87

Gl

Options:

1) 5/8

2)1

3)0

4)3/8

Correct Answer: 3/8
Candidate Answer: 3/8

QID : 8 - What is the sum of all natural numbers between 100 and 400 which are divisible by 13?

100 T 400 & Aer it urepicren deeanatt a1 aht e & St 13 & sy &2
Options:

1) 5681

2) 5334

3) 5434

4) 5761

Correct Answer: 5681

Candidate Answer: 5681



QID : 9 - If the least common multiple of two numbers, 1728 and K is 5184, then how many values of K are possible?

i, 3t Teesit 1728 a1 K o g TAIac 5184 €, at K & faha AT Tora &7
Options:

1) 11

2)8

3)6

4)7

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]

QID : 10 - If (333 + 333 + 333) (233 + 233) = 6X then what is the value of x?

g (333 + 333 + 333) (233 4+ 233) - X @), A x AT A AT R?
Options:

1) 34

2) 35

3) 33

4)33.5

Correct Answer: 34

Candidate Answer: 34

QID : 11 - Which of the following statement(s) is/are true?

1. (65)1/6 > (1 7)1/4 >(1 2)1/3
1. (17)1/4 > (65)1/6 > (1 2)1/3
. (12)'3 > (17)V4 > (65)"/6

frfafed wum/met § & @ 91/3 98t 8/8?

R (65)1/6 > (—I 7)1/4 S (1 2)1/3
Q1 7)1/4 s (65)1/6 >(1 2)1/3
. (12)13 > (17)174 > (65)1/6
Options:

1) Only |

e |

2) Only Ill

Faa Il

3) Only Il

Fad |l

4) None of these

T8 A id el

Correct Answer: Only IlI

had |l

Candidate Answer: Only IlI
et Il

QID:12-1f P =7 +4v3 and PQ = 1, then what is the value of (1/P?) + (1/Q2)?

R P =7+4v3qaTPQ = 1 & & (1/P?) + (1/Q?) & A T &2

Options:
1) 148
2) 189
3) 194
4) 204

Correct Answer: 194
Candidate Answer: 194

QID:13-1fx = (v5) + 1andy = (v5) - 1, then what is the value of (x2/y2) + (y2/x2) + 4[(x/y) + (y/x)] + 62

TR x = (v5) + 1auTy = (vV5) — 1 &, a (x2/y2) + (y2/x2) + 4[(x/y) + (y/X)] + 6 & 1 T &?
Options:

Correct Answer: 25
Candidate Answer: [ NOT ANSWERED |

QID:14-Ifx=2+v3,y =2 - v3 and z = 1, then what is the value of (x/yz) + (y/xz) + (z/xy) + 2 [(1/x) + (1/y) + (1/2)]?

afdx=2+v3,y=2-v3auz=18%a (x/yz) + (y/xz) + (z/xy) + 2 [(1/x) + (1/y) + (1/2)] 1 7 w01 8?2



Options:

1) 25

2) 22

3)17

4)43

Correct Answer: 25
Candidate Answer: 25

QID : 15 - A root of equation ax2 + bx + ¢ = 0 (where a, b and ¢ are rational numbers) is 5 + 3v3. What is the value of (a2 +b2+ 02)/(a +b+c)?

THieR=oT ax? + bx + ¢ = 0 (STef a, b 2T ¢ TRAT TG &) A1 9 5+ 3v3 &1 (a2 + b2 + c?)/(a + b + c) &I 7H FT ?

Options:

1) 35/3
2)37/3

3) - 105/11
4) - 105/13

Correct Answer: — 105/11
Candidate Answer: [ NOT ANSWERED ]

QID: 16 - If x = (a/b) + (b/a), y = (b/c) + (c/b) and z = (c/a) + (a/c), then what is the value of xyz - x% - y2 - 222

e x = (a/b) + (b/a), y = (b/c) + (c/b) TUT z = (c/a) + (a/c) &, at xyz — X2 — y2 — 22 &1 A &1 &2

Options:
1)-4

Correct Answer: — 4
Candidate Answer: — 4

QID:17-1f[a+ (1/a)]? - 2[a - (1/a)] = 12, then which of the following is a value of 'a'?

g [a + (1/a)]2 - 2[a - (1/a)] = 12 &), &t F=fREd & & & a1 'a’ &1 e 7 82

Options:
1)-8+v3
2)-8-+v3
3)-8+vV5

4) None of these
EEEEIEE]

Correct Answer: None of these

Candidate Answer: [ NOT ANSWERED |

QID: 18 - If X2 - 4x + 1 = 0, then what is the value of x? + x” — 194x> - 194x3?

R x2 - 4x+1 =08, @ % +x7 — 194x° — 194x3 &1 49 =1 &2
Options:

Correct Answer: — 4
Candidate Answer: [ NOT ANSWERED ]|

QID: 19-If x +y = 3, then what is the value of x3 +y3 + 9xy?

e x+y =38 a x3 +y3 + Oxy &1 A T E?
Options:

4)9
Correct Answer: 27
Candidate Answer: 27

QID:20-A=(x8-1)/(x*+1)and B = (y* - 1)/(y2+1). If x = 2 and y = 9, then what is the value of A2 + 2AB + AB2?

A=(B-1)/x*+1)amB=(y* - 1)/(y2+ 1) &1 afe x = 2quTy = 9 &, ot AZ + 2AB + ABZ &1 A eRIT &2

Options:
1) 96475
2) 98625
3) 92425
4) 89125



Correct Answer: 98625
Candidate Answer: 98625

QID : 21 -If x — 4y = 0 and x + 2y = 24, then what is the value of (2x + 3y)/(2x - 3y)?

IfE x — 4y = 0 qAT x + 2y = 24 &, &t (2x + 3y)/(2x — 3y) T T R &?

Options:
1) 9/5
2)11/5
3)13/7
4)9/7

Correct Answer: 11/5
Candidate Answer: 11/5

QID : 22 - If (x/a) + (y/b) = 3 and (x/b) — (y/a) = 9, then what is the value of x/y?

g (x/a) + (y/b) = 3 FAT (x/b) = (y/a) = 9 &, A x/y &I 714 =1 8?2
Options:

1) (b+3a)/(a-3b)

2)(a+3b)/(b-3a)

3)(1+3a)/(a+3b)

4)(a+3b%)/(b-3a9

Correct Answer: (b+3a)/(a-3b)

Candidate Answer: (b + 3 a)/(a - 3 b)

QID:23-

In the given figure, OX, OY and OZ are
perpendicular bisectors of the three sides of
the friangle. If #QPR =65° and #PQR = 60°,
then what is the value (in degrees) of #ZQOR
+ /POR?

& 7 gy A, OX, OY @ OZ T
& A st & odd gfemew € AR
ZQPR = 65° @WT <PQR = 60° @, d@r
ZQOR + /POR 1 & (Bl 3) a7 87

Correct Answer: 250
Candidate Answer: 250

QID : 24 - In a triangle PQR, 2PQR = 90°, PQ = 10 cm and PR = 26 cm, then what is the value (in cm) of inradius of incircle?

Biagst PQR #, 2PQR = 90°, PQ = 10 4.+, a1 PR = 26 A+, §, at siq:qa &t sia:frsar &t w1 (.30, #) rr 82
Options:

1)9

2) 4

3)8

4)6

Correct Answer: 4

Candidate Answer: 4



QID:25-
In the given figure, if QR =14
XY 9

cm, then what is the value (in cm) of PQ?

and PY =18

QR 14 _
aﬂéaﬁﬁrﬁ,uﬁﬁ=§mﬁpv-

18 o.#L &1, af PQ &1 A (FAL F) T
&7

Correct Answer: 28
Candidate Answer: 28

QID : 26 - In a triangle PQR, PX, QY and RZ be altitudes intersecting at O. If PO = 6 cm, PX = 8 cm and QO = 4 cm, then what is the value (in cm) of QY?

s PQR #, PX, QY @2 RZ, 0 R ufdede sheell g€ Jardat &1 afk PO = 6 9.4, PX = 8 .7, o QO = 4 4.+t & &t QY o 7 (S5, #) rm &2

Options:

1) 6.3

2)5.8

3)6

47

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]|

QID : 27 - A line cuts two concentric circles. The lengths of chords formed by that line on the two circles are 4 cm and 16 cm. What is the difference (in cm?) in
squares of radii of two circles?

Tk W1 & Gehfiel il ot hleelt &1 3 3@ GRT il WR 1S 17 Sftarait o ewars 4 3.4 aur 16 A, &1 1 gt A Browrsit & ol o o (@412 #) @ 82
Options:

Correct Answer: 60
Candidate Answer: 60



QID:28-

In the given figure, a circle touches the sides
of the quadrilateral PQRS. The radius of the
circle is 9 em. ZRSP = ZSRQ = 60° and
ZPRQR = ZQPS = 120°. What is the
perimeter (in cm) of the quadrilateral?

& ¢ sl A vF gea TP PORS
et F T F W E ged B
=g 9 ¥4 &1 /RSP = /SRQ = 60°
@ LPQR = ZQPS = 120° §| IqssT &
gftaT (FH. #) 7 &2

B Q

Options:

1) 36v3

2) 24v3

3) 48v3

4) 32

Correct Answer: 48v3

Candidate Answer: [ NOT ANSWERED ]

QID:29-

In the given figure, from the point P two tangents
PA and PE are drawn to a circle with centre O
and radius 5 cm. From the point O, OC and OD
are drawn parallel to PA and PE respectively. If
the length of the chord AB is 5 cm, then what is
the value (in degrees) of £ COD?

& o1 sl A, faeg P & uw goa forman
Feg O F gwr oo 5 OH & W PA 3
PB ar s Y@ @it 7§ &1 faeg 0 & OC
TAar OD FF FAM: PA TUT PB & TAAGH
diar amar ¥ afe Sar AB @ oS 5 T
t 3 ,CcoD @ A (R ) = i

A
C
P '
D
B
Options:
1) 90
2) 120
3) 150
4) 135

Correct Answer: 120
Candidate Answer: 120



QID:30-

In the given figure, AB is a diameter of the
circle with centre O and XY is the tangent at
a point C. If ZACX = 35° then what is the
value (in degrees) of ~CAB?

& o ey #, AB v ged Forge &
Ot mEmEam XY, Reg C R
Tagr @ g Afe LACX=35° §, d £CAB
& AW (B &) Fm 22

A X
C
B g
Options:
1) 45
2) 35
3) 55
4) 65

Correct Answer: 55
Candidate Answer: 55

QID:31-

In the given figure, PQ is a diameter of the
semicircle PABQ and O is its center. ZAQB =
64°. BP cuts AQ at X. What is the value (in
degrees) of ZAXP?

& M HEE A, PQ, 3igcd PABQ &
=TT § auT O SO ¥eg £l £LAOB=64°

21 BP, AQ ® X 9T FEdT g1 LAXP &
A (B ) 7w 2

Options:

1) 36

2) 32

3) 58

4) 54

Correct Answer: 58
Candidate Answer: 58



QID:32-

In the given figure, E and F are the centers of
two identical circles. What is the ratio of area
of triangle AOE to the area of triangle DOC?
& M I F, E AW F A FAET Jedll
& g ¢ P AOB & erhe &1 g
DOC & &i=hel & &1 39T §7?

A B

E 2

D C

Options:

1)1:3

2)1:9

3)1:8

4)1:4

Correct Answer: 1:9
Candidate Answer: 1:9

QID:33-

In the given figure, in a right angle triangle
ABC, AB=12 cm and AC = 15 cm. A square
is inscribed in the friangle. One of the
vertices of square coincides with the vertex
of triangle. What is the maximum possible
area (in cm?) of the square?

& 1 Il A, e wEEor Paisr ABC
A, AB=12 ¥ Fw AC =15 d.3 g
ferer & Nt U& 99 an R §) 9 &
et & ¥ v P & M & wmdt e
gl 3 & ¥iieaw Owe S e (FAn?
A FTE? A

Options:

1) 1296/49

2) 25

3) 1225/36

4) 1225/64

Correct Answer: 1296/49

Candidate Answer: 1296/49



QID:34-

In the given figure, PQRS is a square of side
8 cm. ZPQO = 60°. What is the area (in cm?)
of the triangle POQ?

& g T #, PQRS 8 WAL ST Tl
v @ 1 £PQO =60" ¥ Tassr POQ &1
graher (¥.#r2 @) T 2

P Q
9)
S R
Options:
1) 32v3
2) 24[(v3) - 1]
3) 48[(v3) - 1]
4) 16[3 - (vV3)]

Correct Answer: 16[3 - (v3)]
Candidate Answer: [ NOT ANSWERED ]|

QID:35-

In the given figure, two squares of sides 8 cm
and 20 cm are given. What is the area (in
cm?) of the shaded part?

& W I A#, 8 FHL Fur 20 AL
Hell e & @ G &) omifea s
F eEGa (T &) Far g7

Options:
1) 120/7
2) 160/7
3) 180/7
4) 240/13

Correct Answer: 160/7
Candidate Answer: 160/7

QID : 36 - The area of a regular hexagon is equal to the area of the square. What is the ratio of the perimeter of the regular hexagon to the perimeter of square?

T ST AT STl I Sh SAthel oh STeR & | T W3Sl o UNRATY ol & o URATY & T S1guTd 87
Options:

;@@
)\%2
41/@:2\5



Correct Answer:

m:%@

Candidate Answer:

6J3:2

QID:37-

In the given figure, ABCDEF is a regular
hexagon of side 12 cm. P, @ and R are the
mid points of the sides AB, CD and EF
respectively. What is the area (in cm?) of
triangle PQR?

& 7% iy &, ABCDEF ws @A wesiwr €
foredr siom 12 A 81 P, Q 9T R HA:

et AB, CD aum EF & wew fawg &
et POR @ 8w (H.A2 #) & &7

E D
R Q
F c

A P B
Options:
1) 27v6
2) 81v3
3) 54v3
4) 54v6

Correct Answer: 81v3
Candidate Answer: 81v3

QID : 38 - A man is running at the speed of 20 km/hr. What is time (in seconds) taken by man to cover one round of a circular garden of radius 350 metres?

Ueh aafxh 20 fareft/der it nfa @ e w81 &1 ves gater afian et Bsar 350 ez &, ot R oA & s g fohaen awg (e #) forn smam?

Options:
1) 412
2) 336
3) 396
4) 376

Correct Answer: 396
Candidate Answer: 396

QID:39-

In the given figure, four identical semicircles
are drawn in a quadrant. XA =7 cm. What is
the area (in cm?) of shaded region?

& 7% Ipla F, TN FEET e F v

Fod & AGH AW F FmAr AT El XA =T
A & oraifeg AW w1 SAGd (FA2

) T &7
D
c
X

Options:

1) 70

2) 140

3)77

4)84



Correct Answer: 84
Candidate Answer: [ NOT ANSWERED ]|

QID : 40 - A regular hexagonal base prism has height 8 cm and side of base is 4 cm. What is the total surface area (in cm?) of the prism?

Teh T VST YR arel 5w Y Femé 8 Q.At. & T SmuR &t ofet 4 .18, &1 5w o1 ot geig Serher (@412 #) 7 82
Options:

1) 54(3 + v3)

2) 36(3 + v3)

3) 48(4 + v3)

4) 24(4 +V3)

Correct Answer: 48(4 + v3)

Candidate Answer: 48(4 + v3)

QID : 41 - A cube is placed inside a cone of radius 20 cm and height 10 cm, one of its face being on the base of the cone and vertices of opposite face touching the
cone. What is the length (in cm) of side of the cube?

Ueh O Sl Gen i Foreren fsam 20 9.5, Jur S 10 9.7, §, 3 Siex @1 SITdT 8, SHeh! Uoh 98 g oh STTUR el 3R ¢ a7 [Iuia dag o M i a1 T e 38 €1 O <l a1 &l
o (3.t #) Fr g?

Options:

Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]|

QID : 42 - A cylinder of radius 4.5 cm and height 12 cm just fits in another cylinder completely with their axis perpendicular. What is the radius (in cm) of second
cylinder?

ek o foreeht Bam 4.5 9.1, a1 S8 12 F.41. 8, &l Uk o St | Ik 3787l o aiiad O3 ok § GeTied fohar T §1 gER S <l e (3.5 F) Far g?
Options:

15

2)6

3)15

4)75

Correct Answer: 7.5

Candidate Answer: 7.5

QID : 43 - A right circular cylinder has height 28 cm and radius of base 14 cm. Two hemispheres of radius 7 cm each are cut from each of the two bases of the
cylinder. What is the total surface area (in cm?) of the remaining part?

Toh TH TeThR S ht Gars 28 J.7f. qorm smeR Y Brwar 14 S, 81 S & &Y onert & & vcdlier @ 7 .7, Frwwn arel & srefiie sk o €1 Q4w A o ot gt et (3712 )
T ER?
Options:
1) 3842
2) 4312
3) 3296
4) 4436

Correct Answer: 4312
Candidate Answer: 4312

QID : 44 - Two spheres of equal radius are taken out by cutting from a solid cube of side (12 + 4v3) cm. What is the maximum volume (in cm?3) of each sphere?

A BT aret &) et ot Yeh 319 O frgeh! oot (12 + 4v3) .70, &, @ ohre o Fiehret a1 €1 s it oh1 Sifeehae emaa (3.#1.3 &) @ @2
Options:

1) 1077.31

2)905.14

3) 966.07

4) 1007.24

Correct Answer: 905.14

Candidate Answer: 1007.24

QID : 45 - Three toys are in a shape of cylinder, hemisphere and cone. The three toys have same base. Height of each toy is 2v2 cm. What is the ratio of the total
surface areas of cylinder, hemisphere and cone respectively?

I e e, srefmiet a2 2i & R A &1 <fi=1 el a1 SimeR w0 81 vdies f&eia il $ams 2v2 Q.ft. &1 e, srefier q *ig & et G Sthet BT ShHRT: SIUTd RIT 82
Options:

1)4:3:[(W2) +1]

2)4:3:[2+(V2)]

3)4:3:2v2

4)2:1:(1+v2)

Correct Answer: 4 : 3 :[(v2) + 1]

Candidate Answer: 4:3:[(v2) + 1]



QID : 46 - A solid cube is cut into 27 identical cubes. What is the percentage increase in the total surface area?

Qe 319 U &l 27 THFY U1 A I ST 6| el YBIT &5t A foha Hfcierd & gfg 85 87

Options:
1) 150
2) 200
3) 300
4) 250

Correct Answer: 200
Candidate Answer: 200

QID : 47 - A regular square pyramid has side of its base 20 cm and height 45 cm is melted and recast into regular triangular pyramids of equilateral base of side 10
cm and height 10v3 cm. What are the total numbers of regular triangular pyramid?

Uk g girferr fORTfAE foredh smam &t ofet 20 .+t qom Fard 45 1.5, &, ol faear a9 Hesiar forifie & g sirar & fSrad goerg smar 6t oem 10 @54, qor =€ 10v3
1. §1 g1 Ao Uil i oo g a1 §?
Options:

Correct Answer: 24
Candidate Answer: 24

QID : 48 - What is the value of [(sin 7x — sin 5x)+(cos 7x + cos 5x)] — [(cos 6x — cos 4x)+(sin 6x + sin 4x)]?

[(sin 7x - sin 5x)+(cos 7x + cos 5x)] — [(cos 6x — cos 4x)+(sin 6x + sin 4x)] I AT FT 8?2

Options:

11

2) 2 tan x

3)tan 2 x

4) tan (3 x/2)

Correct Answer: 2 tan x

Candidate Answer: [ NOT ANSWERED |

QID : 49 - What is the value of [(cos® 26 + 3 cos 28)+(cos® 6 - sin® 8)]?

[(cos® 26 + 3 cos 26)+(cos® 6 — sin® 8)] @1 =1 T &2
Options:

Correct Answer: 4
Candidate Answer: 4

QID: 50 -
What is the value of

\‘ '
tan[f i AJ X LanLE +AJ?
4 4

\
lan[E . .'fi.than[E + A]
4 4

& HIT F4T 87

Options:

1H1

2)0

3) cotA/2

4)-1

Correct Answer: — 1
Candidate Answer: — 1



QID: 51-
What is the value of

[{secze +1)vsec’6- ‘1} x % (cote—tang)?

[(secza + 1)\!5802 8- ‘1Jx%(c0‘[ﬁ— tane) @
A &4 §7

Options:
10

2)1

3) cosec 6
4) sec O

Correct Answer: 1
Candidate Answer: 1

QID : 52 - What is the value of sin (630° + A) + cos A?

sin (630° + A) + cos A &T | 3T 872

Options:

1) v3/2

2)1/2

3)0

4) 2/v3

Correct Answer: 0

Candidate Answer: 0

QID : 53 - What is the value of [(sin 59° cos 31° + cos 59° sin 31°)+(cos 20° cos 25° - sin 20° sin 25°)]?

[(sin 59° cos 31° + cos 59° sin 31°)+(cos 20° cos 25° - sin 20° sin 25°)] a1 A RIT &2

Options:
1)1/v2

Correct Answer: v2
Candidate Answer: v2

QID : 54 - What is the value of cos (90 - B) sin (C — A) + sin (90 + A) cos (B + C) - sin (90 - C) cos (A + B)?

cos (90 - B) sin (C — A) + sin (90 + A) cos (B + C) — sin (90 — C) cos (A + B) &I A &1 8?2
Options:

1)1

2)sin(A+B-C)

3)cos (B+C-A)

40

Correct Answer: 0

Candidate Answer: 0

QID : 55 - Two trees are standing along the opposite sides of a road. Distance between the two trees is 400 metres. There is a point on the road between the trees.

The angle of depressions of the point from the top of the trees are 45° and 60°. If the height of the tree which makes 45° angle is 200 metres, then what will be the
height (in metres) of the other tree?

2t &7 Uoh asah ol i faa & @ &1 <l gt o mem Y gff 400 Hiex &1 QT gait & e g R Uan farg 81 gai it 9t @ farmg ahr sraeme aior 450 aum 60° &1 af I gar o 45°
T SHIVT FATAT & 1 ST 200 Hiex 8, T GER g&T ot Hams (Hiex #) T 82

Options:

1) 200

2) 200v3

3) 100v3

4) 250

Correct Answer: 200v3
Candidate Answer: 200v3

QID : 56 - A tower stands on the top of a building which is 40 metres high. The angle of depression of a point situated on the ground from the top and bottom of the
tower are found to be 60° and 45° respectively. What is the height (in metres) of tower?

ek Ha fSaeht $am8 40 iR 8, & IR R Uk R @S &1 IR o fAIReR qom ure fomg © offft R T e faivg ol 1+ ahtor shAst: 60° T 450 81 HAR &t S (e 7) &
g?



Options:

1) 20v3

2) 30(v3 +1)

3) 40(v3 - 1)

4) 50(v3 - 1)

Correct Answer: 40(v3 - 1)
Candidate Answer: 40(v3 - 1)

QID : 57 - From a point P, the angle of elevation of a tower is such that its tangent is 3/4. On walking 560 metres towards the tower the tangent of the angle of
elevation of the tower becomes 4/3. What is the height (in metres) of the tower?

ek farg P 9, Uah HIR &l 3907 0T 39 TR & St 3Tt wefwan (3sie) 3/4 &1 iR & 3k 560 Hiex Tem W HHR & I7a- Hivr 6t weisar (sie) 4/3 gt st &1 HiR & Sarg
(Hrez #) T 87

Options:
1) 720

4) 1030
Correct Answer: 960
Candidate Answer: 960

QID: 58 -
The table below shows the sales of milk in six
different states as a percentage of total sales.
In each state only two milkmen A and B sell the
milk. The table below shows the sales of
salesman A as percentage of total sale of milk
in each state. The total sales of milk is 200000
litres.

A & ¢ e & o: fafdew usal & g
1 Fo @A F ufdud # gwEr TR F
Ucdeh U # &hdd & qU fashar A aur B
gy 39d B A & % At gdE aey &
gy B o fashr & gfoerd # fashdr A garr
@ a5 fhr @ g &) qu Hr o fhr

200000 #reT ¥l
i Sales by salesman
State | Sales of milk A/ faFar A A
(e | ger s
ILE ]
P 24% 65%
Q 10% 80%
R 17% 50%
S 13% 70%
T 22% 60%
u 14% 80%

What are the average sales of milk (in litres) by the salesmen A in all the given states?

fog g Foft <ot & fachar A gRT et S g i oftad farsh (cfer 8) fopatt &2
Options:

1) 21866.67

2) 26466.6

3) 19200

4) 26000

Correct Answer: 21866.67

Candidate Answer: [ NOT ANSWERED ]



QID:59-

The table below shows the sales of milk in six
different states as a percentage of total sales.
In each state only two milkmen A and B sell the
milk. The table below shows the sales of
salesman A as percentage of total sale of milk
in each state. The total sales of milk is 200000
litres.

e & 9% oo # o RfeeT st & gy
1 Fo @A @ ufdwd A guEr I E
Ucdeh T H &ddl & qY fashar A aur B
gy 39d B A & % afes 9dE uey &
gy o fashr & afoerd # fashdr A garr
& a5 fhr @ g &) gy Hr o fadr

200000 e ¥l
i Sales by salesman
State | Sales of milk A/fa¥ar A A
(e | fger i fa
oy
P 24% 65%
Q 10% 80%
R 17% 50%
S 13% 70%
T 22% 60%
u 14% 80%

What is the respective ratio of sales of milk in state P and Q by salesmen B and the sales of milk in state R and T by salesmen A?

g P AT Q & fachar B gRT &l 7€ gy <Al foshl e s R qur T & fashar A gRT i 7€ g1 et faishl a1 shsT: SIgaTd oI 82
Options:

1) 52:109

2)104:217

3)52:31

4)31:57

Correct Answer: 104 : 217

Candidate Answer: 104 : 217



QID: 60 -

The table below shows the sales of milk in six
different states as a percentage of total sales.
In each state only two milkmen A and B sell the
milk. The table below shows the sales of
salesman A as percentage of total sale of milk
in each state. The total sales of milk is 200000
litres.

e & 9% oo # o RfeeT st & gy
1 Fo @A @ ufdwd A guEr I E
Ucdeh T H &ddl & qY fashar A aur B
gy 39d B A & % afes 9dE uey &
gy o fashr & afoerd # fashdr A garr
& a5 fhr @ g &) gy Hr o fadr

200000 e ¥l
i Sales by salesman
State | Sales of milk A/ FrFar A camn
(e | fger i fa =
oy
P 24% 65%
Q 10% 80%
R 17% 50%
S 13% 70%
T 22% 60%
u 14% 80%

What will be the central angle (in degrees) formed by the average sale of milk in state Q, T and S together?

5T Q, T JUT S &l fAcTenR g3 gu i 3itera fsht gRT S ST arer s ator (Feeft #) emm ghm?

Options:

1)112.6

2)72

3) 36

4) 54

Correct Answer: 54

Candidate Answer: [ NOT ANSWERED ]



QID: 61-

The table below shows the sales of milk in six
different states as a percentage of total sales.
In each state only two milkmen A and B sell the
milk. The table below shows the sales of
salesman A as percentage of total sale of milk
in each state. The total sales of milk is 200000
litres.

e & 9% oo # o RfeeT st & gy
1 Fo @A @ ufdwd A guEr I E
Ucdeh T H &ddl & qY fashar A aur B
gy 39d B A & % afes 9dE uey &
gy o fashr & afoerd # fashdr A garr
& a5 fhr @ g &) gy Hr o fadr

200000 e ¥l
i Sales by salesman
State | Sales of milk A/fa¥ar A A
(e | fger i fa
oy
P 24% 65%
Q 10% 80%
R 17% 50%
S 13% 70%
T 22% 60%
u 14% 80%

What will be difference (in litres) in the sale of milk in state T by salesmen B and the total sale of milk in state R and S together?

I T F fachdT B gRT et S o Y forsht @2 s R q2m S # et g8 o & gt forehl & oram SfeR (efiex ) 87
Options:

1) 17600

2) 42400

3) 38800

4) 19000

Correct Answer: 42400

Candidate Answer: 42400



QID:62-

The table below shows the sales of milk in six
different states as a percentage of total sales.
In each state only two milkmen A and B sell the
milk. The table below shows the sales of
salesman A as percentage of total sale of milk
in each state. The total sales of milk is 200000
litres.

e & 9% oo # o RfeeT st & gy
1 Fo @A @ ufdwd A guEr I E
Ucdeh T H &ddl & qY fashar A aur B
gy 39d B A & % afes 9dE uey &
gy o fashr & afoerd # fashdr A garr
& a5 fhr @ g &) gy Hr o fadr

200000 e ¥l
i Sales by salesman
State | Sales of milk A/fa¥ar A A
(e | fger i fa
oy
P 24% 65%
Q 10% 80%
R 17% 50%
S 13% 70%
T 22% 60%
u 14% 80%

What is the difference (in litres) between the sale of milk in state R by salesmen A and the sale of milk in the same state by the salesmen B?

I R 7 farchdT A gRT 1 71 g i farsht e g\ o | faghar B gRT &l 1€ gy <t skt @ SieR (e ) 82

Options:
1) 2000
2)0

3) 12000
4) 8000

Correct Answer: 0
Candidate Answer: 0

QID : 63 - A beaker contains acid and water in the ratio 1 : x. When 300 ml of the mixture and 50 ml of water are mixed, the ratio of acid and water becomes 2 : 5.
What is the value of x?

Teh e § RS SR Ut &t Ut 12 x 81 57 300 ml feror 8k 50 mil et ot e et & o gftis iR urft & fArsior a1 SrguTa 2 : 5 8 SITaT 81 x 3T J1E 9T g
Options:

12

2)1

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 64 - A mixture is composed of 11 parts of pure milk and 2 parts of water. If 35 litres of water were added to the mixture then the new mixture will contain twice
as much pure milk as water, then how many litres of pure milk does the original mixture contain?

Te Ao H 11 9T 05 g9 SR 2 9T il 81 afe 39 frsior 7 35 wftex ur=it STerm T |t g fsror & urt & goren # & 47 g 3 81, |t ardfdes fAsior 7 fhan e (5 gy 82
Options:

4) 70
Correct Answer: 110
Candidate Answer: 110



QID : 65 - A starts a taxi service by investing Rs 25 lakhs. After 3 months, B joins the business by investing Rs 40 lakhs then 4 months after B joined, C too joins them
by investing Rs 50 lakhs. One year after A started the business they make Rs 2,73,000 in profit. What is C's share of the profit (in Rs)?

A, 25 ARG T} T AT hech ot TfdT IR el 81 3 AgA a5 B, 40 A1 IUAT el (321 dedh faot=d & S ST1aT & R B & fose @ S8+ & 4 WeH a1e 50 dRa <} & fasr
Feh C Y 378 FS ST &1 A & o9 TR &t & 1 99 a1e 36 2,73,000 30T 7 A1 giaT 61 a1 & C &1 91T (30t #) feet=n givm?

Options:

1) 100000

2) 1,25,000

3) 75000

4) 1,50,000

Correct Answer: 75000
Candidate Answer: 75000

QID: 66 - A, B and C invest in a business in the ratio 4: 5: 7. C is a sleeping partner, so his share of profits will be half of what it would have been if he were a working
partner. If they make Rs 36,000 profit of which 25% is reinvested in the business, how much does B get (in Rs)?

A, B3R C ARt fosmad 4: 5: 7 & srgura & Faer fmam € whifthn uréR & ora: Iuee fgwar 39 e ot simenm R siR ag afdh=1 uré=R gian| afg 3= 36,000 FU ol 1% T &
e @ § 25% fooma & go: far e 3 € at B &t fomae fieim? (o &)

Options:

1) 7560

2) 10800

3) 8640

4) 9200

Correct Answer: 10800
Candidate Answer: 10800

QID : 67 - A can do a work in 36 days and B in 12 days. If they work on it together for 3 days, then what fraction of work is left?

A foreft oy Bl 36 T H R Tepar & 9UT B, 12 i & ok Tehar &1 af 3 <1 a1y & 3 13 Ik & ol & it o1 AT foha=IT IRT s g m?

Options:

1) 2/3

2)1/3

3)1/4

4)1/5

Correct Answer: 2/3
Candidate Answer: 2/3

QID : 68 - A can paint a house in 45 days and B can do it in 15 days. Along with C, they did the job in 5 days only. Then, C alone can do the job in how many days?

A freft R ot 45 R & de R Gepar & SR B39 15 RA A o Tehar &1 C & I1Y fAcTa & 39 o1 ol thael 5 A1 & o Gehd &1 aY 31ehent C 39 foham ot & e amem?
Options:

1)12

2)9

3)15

4)8

Correct Answer: 9

Candidate Answer: 9

QID : 69 - AB and C together can finish a task in 7.5 days. C is thrice as productive as A and B alone can do the task in 15 days. In how many days can A and C do the
job if B goes on leave?

A, B 1 C foneft i ol Gop w1 fietene 7.5 AT A @ Ferd €1 C 3l IcTe & A Y Tt 2 iR B s s Ml 15 RA A SR T 81 A B @@l Raar St g At A 8 C
TR 59 1 ot foha= &1 s aiv?

Options:

1) 30

2)10

3)20

4)15

Correct Answer: 15

Candidate Answer: 15

QID:70-A,BandCcandojobin9, 12 and 36 days respectively if they worked alone. A leaves after they have worked together for 3 days. In how many days can B
and C do the rest of the job?

i A, B 3R C foret &rt ot S1chet et & af & I8 AT 9, 12 3fR 36 T A oedt 81 i AT den areht QT & I i vt & 916 A 99T 1Tl &1 919 §Y & &t B et C foham AT &
R AN?

Options:

Correct Answer: 3
Candidate Answer: 3



QID : 71 - Giving two successive discounts of 40% is equal to giving one discount of %.

T ITRITR 40% TE T % BT & SRR el &
Options:

1) 80

2) 96

3) 64

4)72

Correct Answer: 64

Candidate Answer: 64

QID : 72 - If a website is selling smartphone at Rs 18,000 which is marked at Rs 25,000, then what is the discount (in %) at which the smartphone is being sold?

Ifg g deeTse 25,000 T Hd aret foRel WTE ®iF Al 18,000 T & 3 6T & af WEHH R fha-t g2 (% ) e @1 &2
Options:

Correct Answer: 28
Candidate Answer: 28

QID : 73 - If on an item there is 12% discount on the marked price of Rs 10,000 but the item is sold at Rs 8,360 only then what additional discount (in %) did the
customer get?

10,000 ¥ <t chiAd aTel! fohelt a%g TR 12% B & ST & U= a%g 8,360 T # o< ST & df UTgeh ol fehe=11 SifaReh ge (% ) fAeit?
Options:

Correct Answer: 5
Candidate Answer: 5

QID : 74 - A shopkeeper marks up his wares by 125% and offers 25% discount. What will be the selling price if the cost price (in Rs) is Rs 640?

s GHMER S0 TG 6 AT 125% T TGT 3dT § 3R 25% T 1 61 A 773 Jea 640 30T  f e e (Fui #) r ghm?
Options:

Correct Answer: 1080
Candidate Answer: 1080

QID : 75 - Priya's marks in History and Geography are in the ratio 5 : 7. If she got 14 marks more in Geography than in History, what are her History marks?

i SR siie & firam & Sient T orgaTa 5 7 81 afe S SiagT & o A ofTe 7 14 8ich Sifdes it 8 ot 39 sfagma 7 fhaw ik fret 87
Options:

Correct Answer: 35
Candidate Answer: 35

QID : 76 - The ratio of present ages of Rahul and his sister is 3 : 4. Before 10 years the ratio of their ages was 13:19. What is Rahul's present age (in years)?

g TR ITeh! T8 el TG & SUTd 3 : 4 81 10 I Uget ITeh! Y & SUTd 13 1 19 oTI AGA h ara g (a¥ H) o1 872
Options:

Correct Answer: 36
Candidate Answer: 36

QID : 77 - What is the third proportional to 9 and 15?

9 3fR 15 o1 fiERT T = &7
Options:

1) 30

2) 27

3)36

4) 25



Correct Answer: 25
Candidate Answer: 25

QID : 78 - According to the will, the wealth of Rs 11,50,000 was to be divided between the son and the daughter in the ratio 2/3 : 5/4. How much share did the son get
(in Rs lakhs)?

Htad & SITER 11,50,000 ¥ &t Fufy &1 seart G iR T & i 2/3 : 5/4 & Sgurd 7 g1 T ot fha g fre? (ara = )
Options:

Correct Answer: 4
Candidate Answer: 4

QID: 79 - If Rs 7,800 is to be divided between A, B and C in the ratio 1/2: 1/3 : 1/4, then how much share will B get (in Rs)?

af§ 7,800 % A, B3R CH 1/2:1/3: 1/4 & uTd 8 <i¢ S1at & ot B ol fohan fgwan fehm? (3 8)

Options:

1) 3600

2) 1800

3) 2400

4) 1200

Correct Answer: 2400

Candidate Answer: 2400

QID : 80 - Bunty had candies and chewing gums in his sweet box in the ratio 7 : 13. After he has eaten 8 candies and 11 chewing gums the ratio became 1 : 2. How
many candies does he have now?

¢t & aTS o fSoa H Suiet ofR =g 7T &1 S1guTa 7 1 13 81 I6h 8 vl 3R 11 T3 T &1 7 & 916 31g0Td 1 : 2 B STl 1 I8k Urd 31 a1 hodiet st ghfi?
Options:

1) 65

2) 35

3)54

4)27

Correct Answer: 27

Candidate Answer: 27

QID : 81 - The average weight of P Q and Ris 71 kg. If the average weight of P and Q be 66 kg and that of Q and R be 76.5 kg, then the weight (in kg) of Q is.

P, Q 3R R &1 3f9a awH 71 fh.am. &1 afe P ok Q o sitad awiv 66 foh.am. 8fik Q 3R R o1 affwd awi= 76.5 fh.am. & @t Q ot g (f6.am. #) foramm ghm?
Options:

1) 60

2)72

3) 81

4)75

Correct Answer: 72

Candidate Answer: 72

QID : 82 - Rita buys 5 sarees at an average cost of Rs 2250. If she buys three more sarees at an average cost of Rs 2750, what will be the average (in Rs) of all the
sarees she buys?

a1 = 2250 TUT F Sfied geg @ 5 Arfeal @A afs Ie 4 SR wifear 2750 & Siwd e & @G at 9t Tt a1 siea ge (ot #) & gim?
Options:

1) 2437.5

2) 2500

3) 2450

4) 2332.5

Correct Answer: 2437.5

Candidate Answer: 2437.5

QID : 83 - In a one day match of 50 overs in an innings the team A had a run rate of 5.3 runs per over. Team B is playing and 5 overs are left and the required run rate
to tie the match is 7.2 per over to match the score of Team A. What is team B's score?

T feaeia &9 & &9 A 3 50 Sifar &l geh U # 5.3 T Ui SffaR Y aX T T 91| &9 B W BT & SR 5 Siier 9 g7 & q1 EF A & ThR 6l SRS I & g srasash e 7.2
ufd R &1 &9 B 1 @R T 87

Options:

1) 265

2) 238

3) 254

4) 229

Correct Answer: 229

Candidate Answer: 229



QID : 84 - Average of all even numbers between 104 and 148 is

104 3fiR 148 & sta Fr Toft Tw Tearsit o sitwa faram gim?
Options:

1) 128

2) 130

3) 124

4)126

Correct Answer: 126

Candidate Answer: 126

QID : 85 - A vendor buys bananas at 4 for Rs 3 and sells at 3 for Rs 4. What will be the result?

ek fachar 3 3 & 4 et @iear & ok 4 3 8 3 it dwrar &1 uRoma &= ghm?
Options:

1) 43.75% profit

43.75% &9

2) 77.7% loss

77.7% g1

3) 77.7% profit

77.7% 19

4) 43.75% loss

43.75% g1t

Correct Answer: 77.7% profit
77.7% 149

Candidate Answer: 77.7% profit
77.7% 149

QID : 86 - A wholesaler sells a watch to a retailer at a profit of 8% and the retailer sells it to a customer at a profit of 12%. If the customer pays Rs. 8,448 what had it
cost (approximately) to the wholesaler (in Rs)?

Teh e fashdT 8% %7 o W1 Geen? fashdl &l Goh Tral el & STR Gedhy faehaT 58 TTaah &l 12% &% o AT el 81 AT UTedh 8,448 F0T 3181 el § o Uieh fashdT = IS T
Rrery (Foit &) 7 @y oft?

Options:

1) 6984

2) 6082

3)7120

4) 7022

Correct Answer: 6984

Candidate Answer: 7120

QID : 87 - A trader had 2000 kgs of rice. He sold a part of it at 10% profit and the rest at 16% profit, so that he made a total profit of 14.2%. How much rice (in kg) did
he sell at 10% profit?

foret farghar < urer 2000 5.1, TTae &1 59 Yo T 1 a8 10% AT TR JUT <t §T AN Y 16% AT TR T & dlfch I et a1 14.2% gl I foha=t 6., =maet 10% @y iR
s

Options:

1) 1400

2) 600

3) 800

4) 1000

Correct Answer: 600

Candidate Answer: 600

QID : 88 - A used car dealer sells a car for Rs 7.6 lakhs and makes some loss. If he had sold it for Rs 9.2 lakhs his profit would have been thrice his loss. What was the
cost price of the car (in Rs lakhs)?

Ueh J5S R Sier fohell R el 7.6 ARG 3 H 91T & 3R I8 o Ioha aidT & | I 98 59 9.2 ARE T H SI<Ial df SHhT 1% SHeh! gT1 <l 1 T[T 81T | SR ol 3T Hed T AT? (ARG &
)

Options:

1)8.5

2)8.75

3)8.25

4)8

Correct Answer: 8

Candidate Answer: 8

QID : 89 -0.09% of 25% of 1200 is equal to,

1200 T 25% @1 0.09% & TRIER g

Options:

1) 0.27

2)27

3) 27

4) 270

Correct Answer: 0.27



Candidate Answer: 0.27

QID : 90 - When a number is increased by 20, it becomes 116% of itself. What is the number?

STer fopelt Tvem | 20 STieT AT § O 98 W T 116% 81 e &1 ST a1 giit?

Options:
1) 100
2) 250
3) 125
4) 400

Correct Answer: 125
Candidate Answer: 125

QID : 91 - Two numbers are 50% and 75% lesser than a third number. By how much percent is the second number to be enhanced to make it equal to the first number?

3 ey foneft fiedt T § 50% 3R 75% &H €1 gEt dweat ot fohan ufaera seran S {6 ag ugedt T & SRR gt smy?
Options:

1) 50

2) 25

3)75

4)100

Correct Answer: 100

Candidate Answer: 100

QID : 92 - Price of petrol increased from Rs 60/liter to Rs 75/liter. How much should the consumption of petrol be reduced (in %) so as to increase expenditure by only
10%?

UgieT i hId 60 F/cfex § Tgens 75 F/hex 8 ST § | Ugiet ehl @ud i fhaT &H (% H) AT §ITTT ATfch ST g1 @ chael 10% 382

Options:

Correct Answer: 12
Candidate Answer: 12

QID : 93 - A train has to cover a distance of 900 km in 25 hours. What should be its average speed in meters/second?

Teh & @t 900 ot it gt 25 6 & T aneet @ ot Ieht sftra 1y wfiez/Ache & R g+t anfey?
Options:

Correct Answer: 10
Candidate Answer: 10

QID : 94 - If a boat goes upstream at a speed of 18 km/hr and comes back the same distance at 30 km/hr. What is the average speed (in km/hr) for the total journey?

IS 1T RT3 fudia &= & 18 fnetisfier/der it arer & Ferdt & ok TA g R 30 foReifiex/ger &t a1t & ara9 STt 81 §et T o g sifera are (freiteitex/ger #) om 82

Options:

1)22.5

2) 24

3) 20.5

4) 25

Correct Answer: 22.5
Candidate Answer: 22.5

QID : 95 - Two cyclists A and B start cycling at 21 km/hr and 24 km/hr towards each other. They meet after 1 hour and 12 minutes. How far (in km) were they from
each other when they started?

3} TT3foher FaR A JuT B 21 fon.#fY./gier iR 24 {36 1. /9er i a1t & Ueh gER Y iR T URM ahed 1 9 1 1 R 12 e 912 Ues gER 9 et €1 51 Sgiet g U forar ot a9
Ik g it gt (fp.Af. ) e of?

Options:

1) 48

2) 42

3) 54

4)36

Correct Answer: 54

Candidate Answer: 54

QID : 96 - Excluding stoppages, the speed of a bus is 60 kmph and including stoppages, it is 45 kmph. For how many minutes does the bus stop per hour?
Tfe; o @t Feprer feam sig &t 59 6t =rer 60 foh. =Y. /e & ofiR afe form oY anfire fosar Se ot s Y =mer 45 s #ft/8er &1 99 ufd et foham fAme & g sl & 2



Options:

112

2)9

3)15

4)10

Correct Answer: 15
Candidate Answer: 15

QID : 97 - If in 3 years at simple interest the principal increases by 15%. What will be the approximate compound interest earned (in Rs lakhs) on Rs 15 lakhs in 3
years at the same rate?

YR TS R 3 I # e 15% ¢ ST 31 S R W 15 ARG 39T IR 3 I8 S1G T fehed=T Tergfeg; Aot (da wuat #) fem?

Options:
1) 7.81
2)2.87
3) 2.36
4) 3.38

Correct Answer: 2.36
Candidate Answer: 2.36

QID : 98 - If the amount received at the end of 2"d and 3™ year at compound Interest on a certain Principal is Rs 9,600 and Rs 10,272 respectively, what is the rate of
interest (in %)?

Ifg ot Ferem R gER iR fieR oy & e arel Asiem, Tehgfg samet @ 9,600 T 3R 10,272 0 § Y =aTeT hl & (% H) o ghfi?
Options:

Correct Answer: 7
Candidate Answer: 7

QID : 99 - A invested an amount of x rupees in a bank for 2 years which gave 5% interest in year 1 and 6% interest in year 2. The amount received after 2 years is Rs
24,486. What is the value of x?

A= U dc H x 39 Y fA A1 Faer 2 af & forg foman forem 3% uget avf & 5% R gk a¥ 7 6% 6 @ & =ret A 2 av a1e 3% 24,486 % Bt | x 1 714 /1 82

Options:
1) 23000
2) 22500
3) 22000
4) 21500
Correct Answer: 22000

Candidate Answer: [ NOT ANSWERED ]

QID : 100 - What is the difference (in Rs) in Compound interest earned in 1 year on a sum of Rs 10,000 at 40% per annum compounded quarterly and annually?

If% 10,000 % TR 40% aTftics sarst & & @ 1 af qeh fammgt ok anfifer Tergfeg saTet firetar € & 371 3141 & favaar sierR (% #) gm?
Options:

1) 461

2) 346

3) 463

4) 641

Correct Answer: 641

Candidate Answer: 641



